
Note: given the fact that you’re ‘obliged’ to answer the weekly questions, try to profit the most from the task:

- Start by reading the lecture notes.

- Looking at them as little as possible, answer the questions.

The answers of the questions of week 3 should be handed to me at the beginning of Monday’s lecture of 20th of March. They should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.
Please write WEEK 3 in bold at the beginning of your answers.

L4: C and I functions
1.What’s the difference between the way PKs and NK/NC derive C and I functions?

2. a) Write the PK C function.

b) Explain the three reasons why the propensity to consume out of wages is higher than the propensity to consume out of profits.

3. Explain the first two reasons given in the lecture why the larger the amount of its own profits a company uses to fund new I, the larger the amount it can borrow from outside.

4.  Present the balance-sheet of a company.

5. What is the cash-flow?

6. What’s the difference between cash-flow and profits?

7.Why does an increase in the amount of debt relative to the value of assets of a company increases the probability of default?
8. Write the PK I function
9. a) Why is u* below 100%?

b) What happens to I if  u-1 > u*? Explain.

c) What happens to I if  u-1 < u*? Explain

d) What’s the relation between u and the amount of profits? Explain.

L6: Static macro:  what determines the level of output in a certain semester?

10. Explain the four reasons why I takes time to react to economic conditions.
11. Consider that the circular flow of expenditure-production-income in a certain month has taken place at the full capacity level.

a) What happens to output in the following month if S happens to be equal to I? Explain.

b) If in the following month I started to drop below S, how could a decline in output be possibly avoided? Explain

c) Explain the two reasons why that possibility is unlikely.

12. Consider again that the circular flow of expenditure-production-income in a certain month has taken place at the full capacity level.

a) What happens to output in the following month if S happens to be lower than I? Explain.

b) And in the month after that one? Explain.

c) Explain the short-term recessive spiral in question.

d) As long as S exceeds I that spiral will go on. Why?

e) When S eventually drops to the level of I, the spiral will end. Why?

13. Derive the Keynesian multiplier

14. What ultimately determines the level of output per month:

a) The production capacity per month? Explain.


b) Investment demand? Explain.

c) Aggregate demand? Explain.

d) In the case of an open economy with government? Explain.
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